

VEČNÁ RENTA

$$A_{\infty} = \lim_{n \rightarrow \infty} R \frac{1 - (1+i)^{-n}}{i} \rightarrow 0$$

$$A_{\infty} = \frac{R}{i}$$

$$i = 0,1$$

$$(1+i)^{-n} = \frac{1}{(1+i)^n} \rightarrow 0$$

$$\frac{1}{(1,1)^n} \rightarrow 0 \quad \frac{1}{2^n}$$

$n > 1$

$$A_{\infty} = \lim_{n \rightarrow \infty} R \frac{1 - (1+\frac{j}{m})^{-m \cdot n}}{(1+\frac{j}{m})^{\frac{m}{k}} - 1} \rightarrow 0$$

$$A_{\infty} = \frac{R}{(1+\frac{j}{m})^{\frac{m}{k}} - 1}$$

$$S_{\infty} = \lim_{n \rightarrow \infty} S_n = \lim_{n \rightarrow \infty} R \frac{(1+\frac{j}{m})^{m \cdot n} - 1}{(1+\frac{j}{m})^{\frac{m}{k}} - 1} = \infty$$

$$S_{\infty} = \infty$$

RENTA SO SPOJITÝM ÚROKOVANÍM

$$A_{\infty} = \lim_{m \rightarrow \infty} R \frac{1 - (1+\frac{j}{m})^{-m \cdot n}}{(1+\frac{j}{m})^{\frac{m}{k}} - 1} =$$

$$\left[\lim_{x \rightarrow \infty} \left(1 + \frac{k}{x}\right)^x = e^k \right]$$

$$= \lim_{m \rightarrow \infty} R \frac{1 - \left[(1+\frac{j}{m})^m \right]^{-n}}{\left[(1+\frac{j}{m})^m \right]^{\frac{1}{k}} - 1} =$$

$$= R \frac{1 - (e^j)^{-n}}{(e^j)^{\frac{1}{k}} - 1}$$

$$= R \frac{1 - e^{-jn}}{e^{\frac{j}{k}} - 1}$$

$$\left[\begin{array}{l} k = j \\ x = m \end{array} \right]$$

$$(a^b)^c = a^{b \cdot c}$$

$$(e^j)^{-n} = e^{-jn}$$

$$(e^j)^{\frac{1}{k}} = e^{\frac{j}{k}}$$

$$\begin{aligned}
S_n &= \lim_{m \rightarrow \infty} R \frac{(1 + \frac{j}{m})^{mn} - 1}{(1 + \frac{j}{m})^{\frac{t}{m}} - 1} = \\
&= \lim_{m \rightarrow \infty} R \frac{\left[(1 + \frac{j}{m})^m \right]^n - 1}{\left[(1 + \frac{j}{m})^m \right]^{\frac{t}{m}} - 1} = \\
&= R \frac{(e^j)^n - 1}{(e^j)^{\frac{t}{m}} - 1} = R \frac{e^{jn} - 1}{e^{jt} - 1}
\end{aligned}$$

VEČNÁ RENTA SO SPOJITÝM ÚROKOVANÍM

$$A_\infty = \lim_{n \rightarrow \infty} R \frac{1 - e^{-jn}}{e^{jt} - 1}$$

$$e^{-jn} = \frac{1}{e^{jn}} \rightarrow 0$$

$e = 2,7 \dots$
 $e > 1$

$$A_\infty = \frac{R}{e^{jt} - 1}$$

$$S_\infty = \lim_{n \rightarrow \infty} \frac{e^{jn} - 1}{e^{jt} - 1} = \infty$$